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To solveaq dratu: trxg equatxon algebl‘alcany- S

EX 1-Warm up: Factor each of the following trig expressions.

a) cos’ @ —cosé b) sin’#—2sind+1 ¢) 25tan® x—100
- Cot®© ( Cos &> — d> = ( cin@—i1)(Sino- ) ”;ig“Ganme)(fa nect 27

e (S‘(ft@mi\)&»

EX 2 - Determine the exact solutions for the following trigonometric equations in the interval [0, 27]

a) 2sin’x—1=0

5; ﬁszx,'; _!-
2-

Sinx = i,vﬁz/_— =+ ;L (@/l&/déﬂ Ca ol(

o/ qa[ﬂu/‘(/?ftw/ A=

x = =0T, Ty
u) “)

= W % S 7
q)u’w)m

b) cos’x—cosx—2=0

Cos—2) ((cosxa )T

3 Lo
CosoL=2 Cent= ,‘
" /’—/J
Mo Scel \ f;;i,

| g Cesy < |
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(29‘;”‘{ - ‘) (Si‘nxﬂ();— <

J/ o
‘cf:.l, oy o
75(/11, > Sw\xv{
/ -
2z
W= T ‘W;E
AR C
s . T T T
ae X= THr=2) b

".’Lp(_'/ 3 +ﬁf(9éﬁm

A{) 7 sec

2 ( Fapz ) =3 dein=c

2 dean s tan< - =0

( 9 deanit - | BGC(A;(* ' \
L

¥ .
A = «f‘i Jﬂ(\){f/"l A= Y4 B
ol = ot b L’ay; - ) u G
i 6 = 2w W
o= oo X =) /L‘?
3@;"\T%0”é
= 3,60

Rec il

<
Sinsc+ Cof x = {

| 4 CojBxr= csc e

""‘:‘V‘.ZX*(' j— Sec“%e .
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